

���
�����
�������
�	��������

m�sRcpolglOlmFFpRc?]RpRs\

[W d`-n-kU-5-S=ekf-SPnk=5NkLJ5NQfQJ5nk=TTeGkfJk-q-SGkJBB-SkP=N-kKGkbTQ5J =k!JPT=5Gk#X>Xk;`-S-=Bf-Sk8bTQ5J =:E�k
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!a 3\6�0�+T4D6(�=4BDBT�IDT^=B�0(D4T6((DQ6+�DKOT&6�IT+KKT\+O(D��B�T6�^K=Q6�[T+�OTQDK6�D4OT^0B�BT3\6�0�+T^I+4[DQT?04T

�IDT4D�=4�DQT\40Q=^��T�I0=[IT+�T�IDTK+�DB�T&6�I6�T% TQ+OBT+?�D4T�IDTQ+OT0�T&I6^IT�IDT^=B�0(D4T4D\04�DQT�IDT

&6�IQ4+&+Ka
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�DT6�^4D+BDQ�TD�^D\�T?04T\46^DT^I+�[DBT6�T*"�X�+46??B_W

!a -46^DT6�^4D+BDBT&6�I6�T%T(0��IBT+?�D4T�IDT^0��4+^�T&+BT^0�^K=QDQT+4DT0�KOT\D4(6��DQT6?T�IDOT+4DT�IDT4DB=K�T0?TB�+�=�04OT

4D[=K+�60�BT04TB�6\=K+�60�Ba

$a -46^DT6�^4D+BDBT(04DT�I+�T%T(0��IBT+?�D4T�IDT^0��4+^�T&+BT^0�^K=QDQT+4DT0�KOT\D4(6��DQT6?T3\6�0�+TB�6\=K+�DQT+BT

(=^IT+�Q�V

TTTTT+_T�IDOT+4DT�IDT4DB=K�T0?TB�+�=�04OT4D[=K+�60�BT04TB�6\=K+�60�B�T05

TTTTT�_T�IDT^=B�0(D4T6BT+=�I046�DQT�0T�D4(6�+�DT�IDT^0��4+^�T0�T�IDTQ+OT0�T&I6^IT�IDT\46^DT6�^4D+BDT�+)DBTD??D^�a

�a -46^DBTB�+�DQT6�T0??D4BT0?T\40Q=^�BT04TBD4�6^DBT6�^K=QDT*"�`
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<a 3\6�0�+T[=+4+��DDBT�I+�T�IDT\40Q=^�BT+�Q�04TBD4�6^DBT?=K#KKT�IDT^0��4+^��T�IDTB\D^6#^+�60�BTB�+�DQT6�T�IDT0??D4�T�IDT

4D+B0�+�KDT4D�=64D(D��BT0?T4DK6+�6K6�OT+�Q�04TBD4�6^D+�6K6�OT+�QT�IDTB�+�=�04OTB�6\=K+�60�BT+�Q�04T[0�D4�(D��T

4D[=K+�60�BT�I+�TD�6B�DQT0�T�IDTQ+�DT�I+�T�IDT^0��4+^�T&+BT^0�^K=QDQ`
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<a 3\6�0�+T&6KKT�+)DT�IDT[4D+�DB�T\0BB6�KDT^+4DT&ID�T4D^D6�6�[T+�QT\40^DBB6�[T04QD4BT?04T\40Q=^�BT+�QT&ID�T+BBDBB6�[T

+\\K6^+�60�BT?04T�IDT\40�6B60�T0?TBD4�6^DBa

!a �IDT\K+^DT0?TQDK6�D4OT6BTQDD(DQT�0T�DT�IDT+QQ4DBBT�I+�T�IDT^=B�0(D4T(+)DBT)�0&�T�0T3\6�0�+a

$a 3\6�0�+T&6KKT\40^DBBT+^^D\�DQT04QD4BT&6�ITD?#^6D��TD�\DQ6�60��T�I0=[IT+�T�IDTK+�DB�T&6�I6�T% TQ+OB�T=�KDBBT+TQ6??D4D��T

\D460QT0?TQDK6�D4OTI+BT�DD�T+[4DDQ_T:?TQDK6�D4OTB=??D4BT+TQDK+O�T04T6?T�IDTQDK6�D4OT^+��0�T�DT\40^DBBDQ�T04T0�KOT

\+4�6+KKO�T�IDT^=B�0(D4T&6KKT�DT6�?04(DQT+�0=�T�I6BT+�T�IDTK+�DB�T% TQ+OBT+?�D4T�IDT04QD4T&+BT\K+^DQ_T:�T�I6BT^+BD�T�IDT

^=B�0(D4TI+BT+T46[I�T�0TQ6BB0K�DT�IDT^0��4+^�T?4DDT0?T^I+4[DT+�QT+T46[I�T�0T\0BB6�KDTQ+(+[DBa

�a 
0KK0&6�[TQ6BB0K=�60�T6�T+^^04Q+�^DT&6�IT�IDT\4D�60=BT\+4+[4+\I�T3\6�0�+T4D?=�QBT�IDT^=B�0(D4T6((DQ6+�DKOT�IDTB=(T

IDTI+QT\+6Qa
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3\6�0�+T�0T�IDT^=B�0(D4a

!a �=B�0(D4T6BT+&+4DT�I+�TQ=DT�0T�IDT6��0�+�6�DTBD4�6^DBT\40�6QDQT�OT3\6�0�+�T�IDTK6+�6K6�OT0?T3\6�0�+T6BTK6(6�DQT�0T

4D+B0�+�KDTQ64D^�T0=�X0?X\0^)D�TQ+(+[DB�T+^�=+KKOT6�^=44DQT�OT�IDT^=B�0(D4�T&6�IT+TK6+�6K6�OT^+\T0?T�IDT+(0=��T\+6QT

�OT�IDT^=B�0(D4T�0T3\6�0�+T?04T�IDTB\D^6#^TBD4�6^D�BLT+�QT\40Q=^��BLT\40�6QDQT�OT3\6�0�+T�0T^=B�0(D4_T3\6�0�+T&6KKT
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